Water Drill

C132035

220—=250V

Jate: 202010117




CT32035

1 5003203500101 WnnHaens 1
2 5003203500201 YnnoTHUTeNbHaA TpybKa 1
3 5003203500301 LLnoHka A 6x12 1
4 5003203500401 CtonopHoe KonbLo c otBepctuem ¢p47 1
5 5003203500501 MblnesawmTHOE KONbLO 1
6 | 5001520505902 MoagwnnHuk 6204 2RS 1
7 5003203500701 CronopHoe Konbuo Bana ¢20 1
8 5003203500801 Kopnyc pegyKtopa 1
9 5003203500901 CanbHUK 1
10 | 5001811806501 MoawnnHmk 6004 2RS 1
11 | 5003203501101 LWectepHa Ne4 1
12 | 5003203501201 CronopHoe KonbLo Bana ¢19 1
13 | 5003203501301 Boponoasoaswan TpybKa B cbope 1
14 | 5003203501401 YnnotHuTenbHoe KonbLo ¢p10xdp16x2 1
15 | 35401201701 MoawwnnHuk 6000 2RS 3
16 | 5003203501601 lalika 1
17 | 5003203501701 Anckosasa npy»uMHa 2
18 | 5003203501801 MpuXKMMHOE Konbu,o 2
19 | 5003203501901 DPUKLMOHHOE KO/bLLO 2
20 | 5003203502001 LWectepHa Ne2 1
21 | 5003203502101 MepaHas BTyKa 1
22 | 5003203502201 3yb6uatbiit Ban Ne3 1
23 | 5003203502301 Pe3nHoBasa npoknaaka 2 1
24 | 5003203502401 PeryanpoBoyHaa npoknaaka 1
25 | 5003203502501 Yrnosasa my¢ta 1
26 | 5003203502601 KpaH 1
27 | 5003203502701 BcnomoraTenbHas pyyka 1
28 | 5003203502801 YnnotHutenoHoe Konbuo 94x3x100 1
29 | 5003203502901 BTynka Bana 1
30 | 5003203503001 Wrndr 1
31 | 5003203503101 CpeaHAa KpblwkKa 1
32 | 5003203503201 LWanb6a 18x0.3x34.8 1
33 | 35400801901 MoawwnnHmk 6202 2RS 1
34 | 5003203503401 KpblWwKa noAWwWmMnHMKA 1
35 | 5003203503501 BuHT M4x10 2
36 | 5003203503601 AKopb 1
37 | 5003203503701 Oednektop 1
38 | 5003203503801 BuHT ST4.8x70 2
39 | 5003203503901 Cratop 1
40 | 5003203504001 Kopnyc asuratens 1
41 | 5003203504101 LLleTKogepxaTenb 2
42 | 5003203504201 Camopes ST4.2x13 4
43 | 5003203504301 Camopes ST4.2x13 2
44 | 5003203504401 LLleTka 2
45 | 5003203504501 CnupanbHaa NpyXuHa 2
46 | 5003203504601 KpbIlWwKa WeTKn 2
47 | 5003203504701 BUHT M4x6 2
48 | 5003203504801 Waiba ¢6 4
49 | 5003203504901 LWaliba ctonopHan ¢6 4




50 | 5003203505001 BuHT M6x60 4
51 | 5003203505101 3a4HAA KpblLWKa 1
52 | 5003203505201 Camopes ST4.2x16 4
53 | 5003203505301 3a4HWN KPOHLWITENH 1
54 | 5003203505401 Camopes ST4.2x30 4
55 | 5003203505501 AMOpTU3MNPYIOLWAA NPOKNAAKA 1
56 | 5003203505601 Camopes ST4.8x25 2
57 | 5003203505701 3awmTa oT neperpysku 8A 1
58 | 5003203505801 Bbikntoyatesnb 1
59 | 5003203505901 duKcatop WHypa 1
60 | 5003203506001 3awmTa WHypa 1
61 | 5003203506101 LWHyp c Buakoi 1,5 mm2 1
62 | 5003203506201 Pyuka 1
64 | 5003203506401 Camopes ST4.2x19 4
65 | 35401201701 MoagwwunnHmk 6000.2RS 2
66 | 5003203506601 MycKkoBoe yCTPOMNCTBO 1
67 | 5003203506701 KoHpgeHcaTtop 0,33mKd 1




